
解答
1. まず、ρは次で与えられる。

ρ = |0⟩⟨0|

=

(
1
0

)
(1, 0)

=

(
1 0
0 0

)
(1)

よって、ρ′は次で与えられる。
ρ′ = (1− p)ρ+ pXρX

= (1− p)

(
1 0
0 0

)
+ p

(
0 1
1 0

)(
1 0
0 0

)(
0 1
1 0

)

=

(
p 0
0 1− p

)
(2)

忠実度は、以下のように計算できる。
F (ρ′, |0⟩) = ⟨0|ρ′|0⟩

= (1, 0)

(
p 0
0 1− p

)(
1
0

)
= p, (3)

F (ρ′, |1⟩) = ⟨1|ρ′|1⟩

= (0, 1)

(
p 0
0 1− p

)(
0
1

)
= 1− p (4)

2. まず、ρは次で与えられる。
ρ = |+⟩⟨+|

=
1

2

(
1
1

)
(1, 1)

=
1

2

(
1 1
1 1

)
. (5)

よって、ρ′は次で与えられる。
ρ′ = (1− p)ρ+ pXρX

=
1

2
(1− p)

(
1 1
1 1

)
+

1

2
p

(
0 1
1 0

)(
1 1
1 1

)(
0 1
1 0

)

=
1

2

(
1 1
1 1

)
(6)
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忠実度は、以下のように計算できる。

F (ρ′, |+⟩) = ⟨+|ρ′|+⟩

=
1

4
(1, 1)

(
1 1
1 1

)(
1
1

)
= 1, (7)

F (ρ′, |1⟩) = ⟨−|ρ′|−⟩

=
1

4
(1,−1)

(
1 1
1 1

)(
1
−1

)
= 0 (8)
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